Ratio to ALICE

2 1
1N, or N/dy/dp_[GeV]
=
o

1072

900 GeV pp Soft QC
= T T ] [ T T T 1 R R =
— pT () (alice2011-y0.5) -
E Lo E
B ﬁ"%““‘ _
= % E
- !!.‘!! ]
- *'!\. _
LS
— ﬁ!'\,. —
— RN -
- ey .
N \ﬁ.;.:ﬁ. ]
~ m  ALICE ﬁ N
| --3-- Herwig 7.0.2 default ﬁ —
= ¢ Sherpa 2.2.8 default % =
| | | | | | | ' | | | | | |
- ' ' ' ' ! ' ' ' ' ! ' ' =
n y ST ¢ p
u N"""“N‘o., A= ' -
| ‘Q’ o ‘B‘ B 1 3 --td-- ~f3-ov 0 _|
L L L I L L L l L L L

0 1 2

Rivet 3.1.0, = 7.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


